EARAROBREBRT —5 XN—ZXBISH—F

202338168 (R) 260 EE3H

Il C 114 YSR—g (s | EEm - | 9 o0 B
[AXE%€]) 1%&:350,00H ~ 2%&:116,000H  33#%:70,000M  43%&:46,000H  53&:32,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ REME : -1-1- - SEfEe (BEE)
118l =L 0V~ i 5 e 1.(3_5).9 1-1-1-1 | 38.3 3 (5+122) 2
R:o07% B:XU—YTH— IURUKIS
D SHEA : 20 - FORE (B5E)
2111 I nggya—r 44 he 1.(357).0 2-2-2-2 | 39.3 1 (4:51(; ﬂmﬁﬁm
RINTYYL—Y BEIFAIZR oAy 3B
. 4 | EBEEX 1:37.1 4-4-4-4 |38.7| - 8 489 | SEMZ (BERE)
35| 5| FyFaex 4= ) Lo | IMEKES
R:IVHh—0 BEFZT4—Y Hh &=
S, o~y KRZHiIZE : -5-5- - BER (BaE)
q 3| F9 /%—vavR i 4 05253 1.(347).9 5-5-5-6 | 39.0 4 :1335) i
R:borvhavO B:STRFAY— LENEKE
s LB : -3-3- - MTEA (BEE)
5 ) | RUTY it 6 L 1.(318).1 3-3-3-3 [39.9 7 zg)z jc%;_
R:bh—trIya—9v BF:I=FIvIa—L HHE EE
S 8 4 | A9 L3 1:38.1 8-6-6-5 |38.9| — 10 | 422 |TTFX (BEE)
6 6 NTFv 54.0 (79) *2) AHE2E
RiVILN=RF—b B:A9FT7A4Y BIEEZ 7—LA
Sy e —b < BAEE : -9-6- - BHSEHH (BEE
7 71~ RITvI7> "4 56.0{ 1('33/84;)2 Fe7 |90 2 (4329) riz] ey ( )
RIIET7RA7 PV I—IL J=HUT7—L
~3 _ 4 | BEEE 1:40.7 10-10-11-11| 40.4 | — 11 | 452 |HERAEIE (BEE)
s 4| Z1¥¥aTU—L4 * %.0 (941 ©) M -2 sy
RIE—UR BoAYTUX—F ARETa2—T7—LA
N BB :40. -7-6- . - HF LE— (BEE)
9l7|9|EBYVYFTIIL—IL o5 54.0 1(/4\1(;—)7 6768 | 413 6 (4_471) AR
RiW—5—yvF B:JI)b—F B4
— R S 4 6 | DOERFUME 1:40.8 7-8-6-9 |41.6| — 9 482 | EMEIE (BEE)
10{7|8 | B—FTU—7 5.0 ) o |FEER
RiW—3—yvF BRUVER EUFHAT7—L
S N s o4 | #B)IEE 1:41.1 11-11-10-10{ 40.9 | — 5 | 515 |BUB—A (BEE)
nign| vx¥ava—v 5.0 (1172 5 |KBEE
R:TJUA—=Y B:PIyavIl BER=HNIE
@ 1—F—&RIEL
13—7— 10,1,2,5,3,9,8,6,7,4,11
20— — 10,1,2,5,3,6,9,8,7,4,11
30—7— 10,1,2,5,3,(6,7,8,9) ,11,4
AS—f— 10,1,2,5,6,3,7,9,8,11,4
o ILRE
BB 10 480M4 JA R 1-10 2104 % 3E 1-8 280 3EE 1-5-10 4,210
B B 10 160/ 5-10 2,150M 5 E 1-10 370 3EH 10-1-5 15,740/
1 120 1-5 1,210 Ba 10-1 910
5 5504

ABIC OV TRUTEREERRODDZE. THRIIZEL.




